BEAXPIERASYvH—ESR SBEREESR FEER
VAN <
A R R &% =k BA Rl %
20224FFE S 1[EBARK Yy H—1)—% Norte 2#f 8128
BB 202249 A3B(£) 1530 | HAEARX | 05 | £18% | BEEXFEYSYUR
X & 2 | S8 272 ClEE! 864 %| B | ME |cvFkEl ATZ | BT [BEK 0 A
ER ] K LA Bl ' 1 #H &E FEADEH S KB TEESER
x B AN EFS Bl & 2 B MF =] =2 EE
I/ T/ Tr : _—, 9 /8 /4
HRXE 0 5 R A K5
0 o o 3
3 — 3 EE B WA 9 — 12 KICK OFF
x££ a—k B . | 1 | & . = a—hk x££
= o | ae | ae [wlal 7% |lz2lele] BF% |alwTazl e » [+
0 0 0 fE = 1 |GK|GK| 12| EE #Z 0 0 0
1 0 1 D R 3 |DF|DF| 18| fFik 2 0 2
0 1 1 AT BEX 6 |DF|DF| 80| H= EAER 0 0 0
1 0 1 = FTNER 8 |DF|DF| 43| {8 BX 0 0 0
0 0 0 JIE FEAER 22(DF|DF| 20| ER BE 0 0 0 639
0 1 1 MEH Kt cof 14|MFIMF| 64| #I1F KX 0 0 0 HT
704> 0 0 0 =ik £ 26 |MFIMF| 7 | L& =mgj 1 3 3 0 85%>
0 1 1 FH FEAXER 23|MF|MF| 6 | EHE &R 2 2 0 664>
844> 0 0 0 =H &8 27 [MFIMF| 58| 1R A 3 | 7 4 3
585 0 1 1 B B— 11|MFIFW[ 11| #E EE 1 1 0 7345
7045 1 0 1 RiG 5F 37|MFlFw| 10| &HA FLEA 1 3 0 3
11 1 0 1 WA —48 7 |DFlGK| 1 | =& #iE
WX & 55| DF| DF| 4 ] 1 0 1 20
27 0 0 0 =HKE 18 |MF| DF [ 47| #r2R ®1%
37 1 0 1 K RE 13|FW|DF| 66| LO Et
KE —3} 10 [FWIMF [ 15| W& &7 0 0 0 7
26 0 0 0 AR HA 20 |DF|MF| 69| XE? EFN
MF| 87 A ©ap) | 1 0 1 64
FW| 21| /ngk B— 3 0 3 1
FW| 52| d#t E&fh 1 0 1 6
z E£-8 5 BEE BEE z E£-8 15
B | BH K 4 Zik 2 TR i B | BH K 4
744> | ¢1 |13 HK EE I B - IV
2z Ak R e | W F—L&H JER e
5 4 9 Ta—k | 24 10 | 14
5 10 15 G K 8 6 2
2 0 2 C K 7 0 7
3 5 8 HE#EFK 5 2 3
1 1 2 REFK 2 0 2
2 0 2 |FFZHD| 0 0 0
0 0 0 P K 0 0 0
GE1) A9 A REORFE. BT —F v o805, AT ARIC&BEDERLTN S,
[E4EH] Cl:RAR—YMITTA. C25TTL A . C3-EH. CA4BYELDER . C5BHET A . C6:EAT . CT: M A, Co-EHF A%
LRIBE] S1ELCRERTLA . SLELRATA. S3D(E0E . S45SMAMHIEE) .S58 AMAMIE (). S6.2 5. CS: B2
B F— L BaE TIRAR BEZE (~ FUTI = T TIURNRR 1T BEHRR S va— b AT UY)

2045 = (581 #BAKFEA 18] FEME |dx-2i 43 - ixz-2i 18 ~ 1 ichiske-1i 58 | HS

3845 R |7 ke =mE |58 EBARZEA £-2% 20 ize—qi 1 iZ%k-2i 58 — idis-1i 7 ivrati RS

4645 = |10f FHA FEA -1 6 [ EE:i — 10 i HES

784 =i |58 BAREA |43 {EEEK [H-1: 10 i — k-1 43 — ith-1i 58 isvruti /RS

900+24| = [58F BARZEA 4 Z £B BCK: 10 T ishk-1i 4 — itim-1i 58 [2FuTiHRES

e HI¥ 47:30 (2:30) ®my 50:06 (5:06) AP E R 1:37:36

[i&=]



